#2270 P.001/007

UIVDIUIDLLE

[¥]

('

BULDING DESIGN NOTE:
IN ACOORDANCE WITH THE 2018 INTERNATIONAL BUILDING CODE

STRUCTURAL DESIGN NOTES:

r.

2.

10,
.

i2.
13.

14,
18,

Controctor to verlfy al dimensions ot construction site priar
to begnning construction wovk.

Contractor is responsible for compliance with all local

buitding codes and ordionces.

Theze notes shall Tpclfv whese Indlcated otherwlse by drawngs
or specliicotions. etoil ahown for ons condition sholl oppty
for oll llke or simllor conditions wafess spacific detalling Is
shown on the phns.

The contraclor sholl Ide wdequote shoring and brasing for
?rllolhabﬂmi duﬁnug ] onnltmr:el‘uun perfod ?md pro[oalﬂ;’n from
public,

M| roots, stumps ond wooden limbs or lumber shall be removad
from fhe entire foundalion oad underside of elab areo,
Provide slesves in either fgnmiqtlon or outside woll o¢eas,
where needed, for eniry of plumbing or elsclrical service, Soal
?Jnvﬁ gpenrnqc ofter plum ond glsctricel senices hove been
nstolled.

All concrote shall be stondord weight 3000ps! compressive

slrength ot 2B days uaiess noted othorwize, (Uws bermash”
conciste in alf sl on 1rucla.
Conatruction or conirol joints shall be previded in siabs on

grods 3o thot the maximum orea betwesn joiats sholl be BOO squore
faot ond the length not mere than twioe the width.

Relnforelng barw shall conform to ASTM A—815. All bar slren

3 ound smaller sholl be grode 40. Bar slzas §4 ond lorger shall

8 grade 8D.
Bending of reinforeing rods by heal shall not be cliowed.

All boits, piates, clips, onchors, otc., shall be hot-gipped
qalvanized as per ASTM A-123. All bolts vhall be ASIM A-307,
Apply a protactive cool of rust rasistont paint to all exposed
motul bolte. plates, clips, anchors, elc,

Instoll @ mll';:l)wthﬂme vopor barrier under slab (ond welded
wlre fobrc re used) ot all slabs on grade prior to pour.
Overlup jolnte @ minimum of (12) twelve inches.

All compacted fill to be 95 Proctar,

Contractor to eslablish finished stob stavation per lalest
FEMA zone requirements.

SPECIAL STRUCTURAL NOTES

The moximum ng, of these bulidings is fo 40) feel

when using 2 m g 12 gouge, go{vrﬁlzed n:toylaf co’lumns.

The maxvoum spaeing of the 2 1/2 ", 15 4 o better, golv. column
for sldewalls will bs (4) feet. % b '

The mox. roof peak helght is not to excesd 21 feet, taintaln §' mox
for horizontet bracing, .

Columns Inotoked ot olf door openings (not to sxcesd 12 wide),
Use 2 1/2 " nq. everheod houder baom over each door opaning.

Header booms for door openings at the ends fo by tied to the
motehing overhsad rofter ot lhree equably spoced Jolnis,

STRUCTURAL MATERIAL. COMPONENTS

V. 2% qouge "Ground Rib" (BOKS1) steel roofing with o 30 year
life spon warranly, by Fabrol {or approved aquof).
Thess shests are soted as lollows;
o, Closs 90 wplift tesl rofing (UL 580)
b. Closs 4 Impact resiatarce rafing (UL 2218)
c. Closa A flre resistonce roting (UL 730)
2. Foslen sheets to sach frame using 12-14, Y 3 point,
sell-drilling, YEK scrows by Rosko Fosteners (or aquaf).
3. Framaes fo be 2 1/2 * squars, 12 gougs, minlmum yielding of
50 K5I, galvonized tubs sieel by Aigd Tubs and Conduil Co.
{or agual),
Minlmum adge distonce or epacing for 16X screws la 3/4 " Two
required for each connection.
Spaces to be 4'~0" max. when using 29 gougs metal,
Spooes to be 5'~0" max. when more thon 50 milea from the coost.
For varticol sheeting, con run 12'-0" mox specing with harizontol brachg.
Fee units or bulldings Instalfed 50 milse of caasifing Hhat sxcsed 11' sidawall haight,
min. of 3' of shasting sholl be instolled from the top down and fastersd with 12-14,
TY 3 poolnt, ssli~dvllling TEX acvews by Rosko Fosteners (or aqual)

FNpmE >

NOTE:

THE FOLLOMNG ARPLICATIONS AND TOLERANCES ON WIDTH AND LENGTH ON THE FOLLOWING DRAWINGS CAN GD AS WIDE
AS 40'0" IN WDTH AND DOON TO 10°-0” IN WOTH. THE LENGTH CAN GO UP TO 120'-0" AND DOWN 70 10'-0".
ALL REQUIREMENTS ARE T0 BE FOLLOWED AS INDICATED ON THE DRAWINGS.

NORTH & SOUTH CAROLINA ___ SPAN ROOF SHEETED ONLY

140 MPG WIND / 30 PSF ROOF (LIVE-SNOW)

CUSTOMER NAME:
BUILD'NG SIZE:

J0B SITE LocC.:

CITY -STATE:

GENERAL SPECIFICATIONS

K & G STORAGE, INC.
LT 1736 HWY 30t SOQUTH

S, f%” DILLON, SC. 29536

S0 Z KENNY NORRIS (843) 774-2150

Benjamia L, Smith, P.E.
S.C. UC, # 22438 - N.C. LC. # 28686

FRAMING PLANS AND DETAILS

. c.vnwv

~




L)

M~ "
<o
o
- [~
o
o
< [
o ’— |
r?. e o 4 SPACES O 4' = 18' a-0*, ) DETL SA ON 5B 3 w:il' 5A ON 55
~ ' 5 WAX, SPACHG P |
oY) l ey “t:“!
o w 1. w < e e
¥ —
*
4 9 i
L B & s 2 177 %0 i
12 DA GAY, P
f 9 ML CORUMHS e ,’{,‘ k‘ﬂ »
GRADE s QALY COUMIS SRAE.
o h d | ON S¢ “
¥ ™, §
) N . GALY. COLINNS
; N i ; 4 e ( P30 CONC. SLA® q gt ~0" gvenean| | 1or-o® %m 18" | 40" 4 PIES O & = 18 £-0"
3000 . i 8 - ']
= 1? & WK ABERVESH OVER B ML o summ‘ ”:: o 12° M. SPAONG FOH VERTICAL SHEETH
i s - [l ]| eommesuensmer 1 L on aeron T
I : MSL) FCL. YREAT ARCA FOR BACK ELEVANON FRAME
2 E ! ) g L!  TERMNES. (WHERE REQURED) || ¥ :
@ ¥
; 5 s . b 20 GA STEEL SHEETING GALY.
" & PANIED ALL CVER. ATTACH
=L L WITH 1214 X 3/4 TEXK SCREWS
| L WASHERS AT EACH NAJOR RIB
| U % ARs S
N L p o & Ay
7l 10' X 8' 0.H. DoORE § o “'—,
“ (CR LARGER DODAS WHERE HEEQED) | - - S 3 ol o
¥ s e | s SRS
- 10'~0" w-a' - %‘v,;'---. i -}',1%,\*
Lo ALTERNATE i\
Wy - g FRONT ELEVATION i
I811reyy
R
KOTE: 20 FT. TO 40 FT, W ; i SAR
) 38 [0 T8 I 950 W e ke, 5 o 04 %3 o o o o B | BN ONTE AN
| v %
,& 3 8 i F
EE o
20 GA SYEEL SKEETING CALY. 30 J- /u‘e‘
& PAINTED ALL OVER. ATTACH \_ 2% v e RS
WITH 1264 X 3/4 TEK SOREWS 28 GA STEL SHEEWNG GALV. 4,,,"4;'-!”-“' e
WASHERS AT EACH MAJOR RIB & PANTED ALL D¥ER. ATTACH 29 GA STEEL SHEETING GALY, oL
N WITH 12~-14 X 3/4 TEK SCREWS & PAINTED ALL OVER. ATTACH LT
N WASHERS Al MAIOR R WITH 12-14 X 3/4 TEK SCREWS
o WASHERS AT EACH MAJOR RIB R —
o IRY DIOR €. UG, F 72438 - NG UG, ) 20068
5 F [~
|
>
— aE LS
n
FRONT ECEVATION SIOE ELEVATION REAR ELEVATICN W =
z “.;a-rq-f- L. Smith
1. 2018 INTERNATIONAL BUILDING GODE. 5. SOILS DESIGN RESISTANCE OF 1 TON PER SQUARE FoOT. e smmbres ;
J 2. 140 MPH WIND LOADS ON BUILDING AND ROOF, 8. DESIGN DATA ] K & G STORAGL MC-DILLOYN, SC 29538
- 3. OP 45 FOR ALL GLASS, IF ADDED. a. ROOF L. = 30 PSF Dl. =~ | PSF KENAY NCRRIS (843) 774-2150
4. SEISMIC LOAD D—1 IN SITE CLASS D. b. SIAB ON GRADE TO CARRY LL. = 500 PSF - TWL NIS - 2
L LS. SHEEY 8,

VY e &VERY




F # (HORZONTAL) DET'L SA ON S3
r:'Ta SPACES © 5" = 17" r.q.l

w:'la'ugn(}!mg’%)m /v I j
L v w — gy + w od —q 0 [ ATX2T" WNDOW
1 Bl e bl T8 2 1/2° 50
13 GA, GALV.
L | ALL CCLUNNS

#2270 P.003/007

SOUGE 4" (3000 PSY) CONC. SLAB . @ AL
WITH FIBERNESK OVER 6 MIL ALY, CCLUNNS
POLYETHYLENE VAPOR BARRER | |do
ON CCMPACTED (95X PROCTOR
MIN) FILL, T AREA FOR |
TERMITES. (WHERE REQUIRED) I
5 e’

=] q 4 9

h SHEETING NOT SHOWN
z:. " 37" oH, " % < . . i | FRONY E’I.—EV‘-.“:II(_J-N FRAE
. ° ; \
[ S s e ooy
h p A !
1" e fe
b d b | o
ﬂ‘. 1A ON S¢
" i 1 L%, DT
'. ] L L._.a’ 1B' w_,]
—25"

29 SHEETING INOT SHOWN
FLOtR P FLOOR PLAN REAR ELEVATION FRAME

a1y
W cARg”

K & 7%
/—\ /\ § i No. 22430 z- §
[ 2,80 1§
2 o) 'y &
F— \ 5299 Sl
Y ey - Ky
: \ GA I V. tn W
D WTH {2—14 X E_3{4 TIK SCREWS ,z,sp,.mm H_f"gfrm'fc,.%“ Ahni Honjrrin L. Smih, PE
~ WASHERS AT EACK WAXIR RIB WITH 12~14 X 3/4 TEK SCREWS 36, UG, F 22430 — 4G LI, | 28960
hid ﬂ ” [ WASHERS AT EACH MAJOR Hi i
0
> it T
n STORAGE/CARPORT DETAILS |
FRONT ELEVATION SIDE ELEVATION REAR ELEVATION =i e
2 Banfomin L Sniih Genjorriin L. Seiih
1. 2018 WNFERNATIONAL BUALDING GODE, 5. SOLS DESIGN RESISTANCE OF 1 TON PER SOQUARE FOOT. -
N 2. 140 MPH WINO LOADS ON BUILOING AND ROCF. B. DESIBN DATA K & G STORAGE NC.-OLLON, 5C 29338
N 3. DP 43 FOR ALL GLASS, IF ADDED, 9. ROOF LL = 30 PSF D.I. = | PSF KENNY NORRS {B43) 774-2150
4. SEISMIC LOAD D-1 IN SITE CLASS D, b. SLAB ON GRADE TO CARRY LL. = 300 PSF = B A ]........:...-a -
1 T l TIL)

VYIf el aVEY




#2270 P. 0047007

(Ll
Sk TARG

At 3305
o 8%
ion Mo, 2 3 §

1S 2 1/2" sQ. (15 GA.
Fr/ OR BETTER) GALV. COLUMN

N\/ GRADE

iy

I,
Y

w2
S
<
2 1/2"

4 TEK SCREWS

TS 2 t/2" sQ. (15 GA OR
BETTER) GALV. COLUMN
CONCRETE WHERE USEOD

G S
2—-#4 BARS, ONE 12° 4] || ofep x 8™ sl 12" I\ 316" x 3 1727 x 3 172
FROM_BOT'M & ONE »
14" FROM TOP | 4~ SQLID CONC. BRICK M e ——
W AR & 2 BETTER) GALV, RAFTER
o f-:ﬁ S DETAL 1A COLD BEND FOR 3/12 SLOPE
;ﬁ LY DETAIL 1 (OPTIONAL REPLAC‘;;MENT TS 2 1) /2" s0. (15 GA. OR
E 1 B e FOR DETAIL 1 BETTER) GALV, HORIZ. {4 GA. GRACKET
%,ﬁ. 6.5?'05"- '(ﬁ:; (140 NPH WIND LOAD) (140 MPH WIND LOAD) BRACE FOR JOINVS, SEE SHEET 5
e e thin TS 2 1/2" SQ. (15 GA. OR a &
PigtB L o BETIER) GALV. RAFTER i e TS 2 1/2" 50. {15 OA OR
(1) 3/4" TEK SCREW IN CORNER BETTER) GALV. RAFTE
COLD BEND FOR 3/12 SLOPE SETAL 4
TS 2 1/4" SQ. (14 GA) (140 MPH WIND LOAD)
(2) 3/4”" TEK SCREWS. EACH X 6" LG. SLEEVE .,
TS 2 1 . (15 GA. OR
SIDE, EACH MEMBER THE TS 2 1/4" SQ. X 6" LG. BETFER)/%AL \S’Q R}gFTER 0
ﬂ‘; GA.) SLEEVE TELESCOPE 250 C 250 (15 GA)
NEMBERS 5 FACH WAY 12 GALV. X 5'-0" LG.
J OR 4= FASTEN *C" SECTION 10
DETAIL 2 e SEcTion ¥
(140 MPH WIND LOAD) (3) 3/4" TEK SCREWS EA. SIOE EACH SIDE
TS 2 1/2" SQ. (15 GA. OR DETAIL 3
- DR G'::LV‘ i - (140 MPH WIND LOAD)
14 CA. CORNER BRACK
] SEE SHEET S6 FOR DETAIL CAag, SN Chh o
e RN R
) (2) 3/4" TEK SCREWS. EACH i % ; -3 [
2 SIDE, EACH MEMBER Mg = 30 gmees 2 |
= 3lEas ?{? %f;}f-i?s STRUCTURAL DETALLS
......... (oW O 3 -
S DETAIL_2A szf D L o 1. Snh et
N R Benjomin L Smtn, PE - K & G STORAGE WNC.-DILLON, 8.0
B (Omgggl DETEZ‘LA{;-E - SG. UG, J2243% - N&. UG j20088 — e e =
(140 MPH WIND LOAD) NS, SHEET 4

VU7 1L EVEY




#2270 P. 0057007

FLAT CENTER BRACKET TS 2 1/2" Q. (15 GA. OR
SEE SHEET 5 )
FOR DETAIL MWER) GALV. RAFTER

OR BEYTER) GALV.
VERT. BRACE

TS 2 1/2" sQ. (15 GA.
BETTER) GALV. HORIZ.
BRACE

1/8" X 2" X 4" GALV:
FLAT PL. EACH
SIDE @ ALL TS
CONNECTIONS ~ ———

OR BETTER) GALV,
VERT. BRACE

TS 2 1/2" sQ. (15 GA.
BETTER) GALV. HORIZ,
BRACE

TS 2 1/2" SQ. (5 GA.—

\ (8) 3/4" TEK SCREWS
(4) EACH MEMBER

DETAIL 5

TS 2 1/2" Sa. (15 6A—

TS 2 1/2" SQ. (15 GA. OR
BETTER) GALV. RAFTER

-a_\

N\ (2) 3/4" TEK SCREWS, FACH
SIDE, EACH MEMBER

.

DETAIL 5A

(2) 3/4" TEK
EACH LEG

an

2 1/2"

2 1/2"

(14 GA GALV. ANGLE)

DETAIL 7

ANGLE BRACKET
DETAIL

DETAX 2 OR 4
DETAIL §
]

C;{DUNL 1
TYPICAL ENDWALL

RAM

TYPICAL BUILDIN

TYP, CONNECTION FOR TS
SHOWN ON SHEET 6

AL 1

&

o Y[UET M),

X ST, o TYPICAL "W’ TRUSS DETAL

o TS 2 1/2" (15 GA. FOR ANGLE BRACKETS, Sh K' % Sl %,

5 OR BETTER) / SEE DETAIL 7 K L §‘ 4 : % Fr -

> GALV. MEMBER 3 Mo 249% E 3 ! Jaee g

= 2.5 .g.g‘;,.-hse 1. 0. .(j*g o

. " %f;;;% RS A ,“_,,‘z_?_ : 6\‘}@ STRUCTURAL DETAILS

n (2) 3/4" TEK SCREWS EACH TR ST o "

- LEG, EACH MEMBER "ty gy Banjamia L Swith Banjornin L. Srily
Banjorin L. Smith, PE [ & O SIORMGE INC-ULLOK, 30, 28538

2 DETA,L 6 S.C UG §22430 ~ XC. LK, §28688 = KENHY $0RRIS (843) 774-2150 -]

2 AL AT Wk

5 _L NIS, ]_ GHEET 59

3

b

i

)

>




-
iy .
<
N
P n
@ f
o —

a [
<
[
o~
[a¥]
¢
H\ /
-2 /2% GALVARIZED
Ve STUDsS 2 1/2° GALVANIZED STUDS
17 v
\\“Illllllﬂﬂw 3 _‘[:
‘\\\\‘ \\\_ EA“Jl}”qp
$ Ofof L .4, 3
] g No. 22430 3 p g
Zah) 3 ffSins
’ff,,: 4’) \Peﬁéé* l
LTI
SECTION ""ffmulm‘\l“‘“
§)“,&u\rn\lium,,,” - SIE EL
Th > Ve e Gl Yo,
W_ TRUSS FOR 26" TO 40' SPAN SSeny KJ
__-? O TO CARPOR
2 ms?
3% (Z&"
%2 Mg

u gliy . S

N g™

2 Senjomin L Smith, PE

3 SC. UC. {22430 ~ 8.C. LC. §28808 [

o BATRe

> JEANATE CARP

? e W YRUSS FOR 20’ TO (Q' SPAN o &

> L oin L. Smith

- ‘e -

J, FLAT CENTER BRACKEI’ 14 GA. BRACKET Banjomin L Smiih Bsnjamin L S m

- FOR TRUSS JOINTS - K & G SFORME NC.-DLLOK, SG. 20638 KDINY NeRAB

KENNY NORRIS (843) 7742150 bicad e
3 AL T |
: ] HYS, + — SHERT-5
'




Norris
Storage Buildings & Carports, LLC

Date: December 1, 2020

Ordered By

Name: MATTHEW AND SARAH TENBRINK
Address: 307 FLYNN MCPHERSON RD

City, State CAMERON, NC

Zip: 28336

Phone: 209-918-1119

Delivery Date:

Contact Name: |209-423-2120

Deliver To

Name:

Address:

City,State:

Zip

Remarks: 2000.00 DOWN BALANCE BEFORE STARTING

NORGUARD GARAGE BLACK ROOF SIDES DARK RED
TRIM WHITE 1 A/C CUTOUT NO CONCRETE
2ES 10X8 G DOOR 1 6 PANEL SERVIVE DOOR

8863 Fayetteville Road
Raeford, NC 28376
Phone: 910-875-1560

1001 East 4th Ave
Red Springs, NC 28377
Phone: 910-843-8920

2948 Gillespie St
Fayetteville, NC 28306
Phone: 910-424-0514

www.NorrisStorageBuildings.com

Dealer: ROLANDO/TOMMY

Terms:

PO#/Contract#

Check #:

Credit Card: |DEBIT 2000.00

Cash

$11,495.00 $11,495.00

All sales which include concrete slab price is based on lot being level.

Additional ground prep may be charged for un-level ground.

No Refunds on Deposits. Customers are responsible for all permits.

Sub-total $11,495.00
TAX $804.65

Grand Total $12,299.65

Internal Use Only

Amount Paid: $2,000.00

Paid Date: 2020/12/01

com /1. LuialClonbii~




